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Examinee is directed to read carefully the following
instructions :

Examinee must write his/her Roll Number in the
specified box on the top left hand corner of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer Sheet which is being
provided to the examinee,

Besides filling in the Roll Number, the examinee has to
put his’her signature on the Answer Sheet and also fill
other required details like Name, Roll Number,
Question Booklet code, etc, as indicated on the Answer
O.M.R. Sheet, if these details are not filled in by the
examinee, his’her Answer Sheet will not be evaluated.

3. For each question, there are four alternative answers,
outof which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Point BallPen only.

There are 32 (29+3) pages in this Question-Booklet
Including 1 page for General instructions and two blank
pages for Rough Work in the last. In case an examinee
receives an incomplete or defective Question Booklet.
he/she should make a request to the Room invigilator
lo change the same within 10 minutes of start of the
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exam.

9. This Question Booklet contains 150 question from
following subjects
(1) Maths Q. Nos. 1- 50
(2) Chemistry Q. Nos 51-100
(3) Physics Q. Nos. 101-150

6. Each question carries 1 mark and 1/4 mark will be
deducted for each wrong answer.

.

In case of any discrepancy between the English and

Hindi versions of any question, the English version will

be trealed as final/authentic.

Possession and use of elecironics devices such as
, Cellular Phone, Digital Diary, Log Table,

Pager, elc., are restricted during the examination.

8. Any leaf from the Question Booklet should not be

. Afler the Examination, Answer Sheel must
» behanded over to the Room Invigilator
10. M‘UEllﬂirmm the examinee will not be allowed 1o
leave the examination hall till END of the Examination.
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Q‘MMA =[ a;] is a square matrix

of order 3x3 and |A| = -7, then the
valueZi =13ap A where A;;

i denotes the cofactor of element ajjis
A 7 B) -7
C) 0 D) 49

- The Cartesian equation of the lines is
3x+1=6y—-2=1-2zthenits
direction ratio are

A) 1/3,1/6, 1

B) -1/3,1/6,1
C) 1/3,-1/6, 1
D) 1/3, 1/6, -1

3 If A and B are invertible matrices,
then which of the following is not
correct?

A) adj A=]|ALA™

B) det(a)™ =[det(a)]™"
C) (AB)'=B"'A"

D) (A+B)"'=B"+ A"

4, The coefficient of the middle term in
the expansion of (2 + 3x)*is :

A) 5! B) 6
C) 216 D) 8!

The largest coefficient in the
expansion of (1 + x)"’is:

A) 1011{5:)’
'~ : LN

X ﬁﬂ!l(ﬁlx4l}
mustmn

foar war @ N A=[a;] 3BT
®1 (s I TYe & 3SR |A|=-7,

al Li=13ap Ap &1 719, WIET Ay
ad a; ® WedRS H quiar @
N 7 B) -7

e ¢ D) 49

G BT BrdTg GHHIT 3x +1 =
by-2=1-z & dal gu®r feur
JqaTa &

A) 1/3,1/6, 1

B) -1/3, 1/6, 1

C) 1/3,-1/6, 1

D) 1/3, 1/6, —1

afg A 3R B gamfiy anege &,
g‘rﬁﬂﬁhﬁmﬁﬁﬁamﬂﬂqﬁ
?

A) adj A=|ALA™

B) det(a)™" = [det (a)]
C) (AB) ‘=B A"

D) (A+B)'=B'+A""

(2+3x)" & 99R ¥ 7y yz By
NS B

A) 5l B) 6

C) 216 D) 8!

gl:l-x)’"a}mﬁmﬁmm

A) 10!/ (5!)?
B) 10!/5!
C) 10!/ (5! x 41)?

D) 10! “ﬁix 41)
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_;ﬁ 1 If n is the positive integer, then / £
'Q"' 2% 7n-1s divisible by

ﬂﬁnm‘{"ﬁt.m o
2" _7n-1 fouad g fRmey @

B A s
er B) 10 B) 10
g C) 49 C) 49
D) 81 D) 81
8.  Iftan A=1/2 and tan B = 1/3, then the 8. ufy tan A=1/2 aX tan B=13,a
value of A+ B is A+B®I A 8
.:' y A) ul6 A) wl/6
B) o B)
C) o ¢} .0
D) n/4 D) n/4
k. O
Q{\ 9. The value of cos 1° cos 2° cos 3° ... 9. cu51ucn52¢ca53n_“m1w;
cos 179°is qrer 2
)2 A 1NV2
B) o B) 0
9 1 cy #

D) -1

sin50° — sin70° + sin10° ﬂ
awraY gran @

M G §

L . 1
il i 2
| L T r .i 1
| J . ¥ 8

' i =

|' n _-. F‘.
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A
" S {'I"'u.
11, sin(45° + 0) - cos(45° —0) &T AT &

-
—

A) 2cos b
B) 2sin0
By 2.9 |
M .0
12, IfAlies in the second quadrant and 12. afes A g 3%!41’!1 ¥ feqa 2 3l
R 3tanA + 4 = 0, then the value of 3tanA+4=0 2, d (2cotA — 5cosA
~ (2cotA -5cosA +sin A) is equal to +sin A) &1 A7 aaX 2
- A) -53/10 B) 23/10 A) -53/10 B) 23/10
C) 37110 D) 7/10 C) 37/10 D) 7/10
13.  Number of solutions of the equation 13. 9HI$HIUT tanx + secx = 2cosx @
tanx + secx = 2cosx lying in the JFavrad [0,2w] ® Rera ga1 @)
interval [0, 2] is &1 B
A) 0 B) 1 A) 0 B) 1
£} 2 D) 3 C) 2 D) 3
14.  If sinB and cosb are the roots of 14. uf% sind 3R cosb ax’ —bx+c=0
u’—hx-l-n-tl.thanthnralatiun ® ol &, @1 "a,b 3R c B A=
between a, b and ¢ will be Haer &
A) a’+b’+2ac=0 A) a’+b’+2ac=0
B) a’-b’+2ac=0 B) a’-b’+2ac=0
C) a'+c’+2ab=0 C) a*+c?+2ab=0
D) a‘-b*-2ac=0 D) a’-b?-2ac=0
| 15.  The Cartesian equation of the line is 15. @1 &1 &rdfa ey
X * & =
x+1=6y~2=1-2z thenits N+ 1mfy—281-2 & ®
:r gH®1 e arqura @
A) 1/3,1/6,1 A)  1/3,1/6,1
) B) -1/3,1/6,1 B) -1/3,1/6,1
O 1 C) 1/3,-1/6,1

-
|

113,116,-1 | D) 1/3,1/6,-1

N e § i
\ D i Tak
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anae 2x-y+z=0 ¥ f
a1 wfafasa @

A (-3,52)
B) (3,5 2)
c) (3,-5 2)
D) (3,5 -2)

fig A(1,0,3) ¥ fag B (4,7,1) :

9 . perpendicular drawn from the point A C (3,5,3) & st % i MY 'd!‘
(1,0,3) to the join of the point B (4,7,1) are @ Frdwie &
and C (3,5,3) are
A) (5/3,7/3,17/3) A) (513, 7/3, 17/3)
B) (57,17) B) .5, 7,17}
C) (5/3,<7/3,17/3) c) (5/3,-7/3, 17/3)
7 D) (53, -7/3,-1713) D) (508, -7/3, ~1713)
18. The locus of a point, whose abscissa 18. 39 fAg &1 faquy, s 9 3R
* and ordinate are always equal is Hfe eYon auaw 2y & @
) Xx+ye+y=0 A) x+y+1=0
-‘i”' B) X—-Y =0 B) X -y =0
! C) x+y=1 C) x+y=1
? D) None of these D) T @ B 4
19.  If two vertices of a triangle are (3, -2) 19. 3} & Prege @ < ofid (3. _.3)
O and (-2, 3) and its orthocentre is M (-2, 3) & sk m
s H % (=6, 1) then its third vertex is (~6. 1) @ at 2
3 - _3'
4 : "f’:; A) (5, 3)
iy i _;) pE C) (5,-3)
’ . D) (-5,-3)

I
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R 3
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The locus of the point from which the
tangent to the circles x* + y* 4 = 0
and X + y° —8x + 15 = 0 are equal is
given by the equation

A) 8x+19=0
B) 8x-19=0
C) 4x-19=0
D) 4x+19=0

The center of the ellipse
(x+y-219+(x-y)’/16=1is

A) (0,0)
B) (0,1)
C) (1,0)
9 1)

A vector in the direction of vector

I-2j#2k that has the magnitude 15 is

i—2j+ 2k

A
) 3

B) 15i-30j+30k
C) i-2j+15k
D) 5i-10j+10k

The function of f : R - R be given by
f(x) = x* + 2 and g: R = R is given by
g(x) = x/(x-1). The value of gof(x) is

A) (¢ +2)/(x*+1)
B) x*/(x*+1)
C) x'/(x*+2)
D) None of these

SAE

21.

22.

23.

Aefger (x+y-2)°/19+ (x—y)' /16 =
1 &1 B &

A) (0,0)
B) (0,1)
C) (1,0)
D) (1,1)

afewr i-2j+2k @1 faem 4 e wfew
st aRmmor 15 2

i—2i+ 2k
3
B) 151 — 30j + 30k

A)

C) i—2]‘+15l2
D) 5i-10j+10k

Ife %1 f: R - Rf(x)::z-i-z AR
ﬁmm%aﬂ‘x’gznq R g(x) =

x/(x-1) g1 f&ar sirar @ oY gof(x) 1
I

A) (X +2)/(x* + 1)
B) x*/(x*+1)
C) xX'/(x*+2)
D) ¥ ¥ @I &

- . # - i
’ g g e W C '
! = gt B - 1 ¥
i
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24. ufz a, B, p P X-& Y- fa :
z-ai@ @ gTd R e &
Y amefl fHIOT ERT 91T Y oy 3
al sina + sin? B +sin* p = '

- fa, B, p are the angles made by a

" half ray of a line respectively with
positive directions of X-axis Y-axis
and Z-axis, then sin?a + sin?® 8 + sin’

br p= " '
.'. A) 1 B) 0
B) 0 c) -1
c) -1 D) s @ BIg el

D) None of these

25. w9 ohfeig f:R— R @ f(x)=x*
wg & gReaifa fear smar 2, o
A) f@aﬁmluﬂlﬂmg
B) f 48U 3ATWIGD '
C) f@aﬁéﬁﬁﬁrmﬁm%’f
D) fa a Uhal 2 AR 9 & 4
ATBIED

25. Letf:R - R be defined as f(x) = x*,
then

/ A) fis one—-one onto

L]
= |
a
-

B) fis many—one onto
C) fis one-one but not onto

D) fis neither one—one nor onto

26. HF <IfSiv A ={1,2,3} 3R B={a,b, .-:
c} IR f = {(1,3), (2,b), (P,c)} T
1 81A 4 B % UF Bed @

26. Let A={1,2,3} and B = {a, b, c} and let
f = {(1,2), (2,b), (P,c)} be a function
from A to B. For the function f to be
one-one and onto , the value of P

equals gi M aroEe @ @ R B
A) 1 B) 2 ¢
C) 3 D) 4 Py 1 B) 2
C) 3 D) 4
5. M

b ,
f:R-R, f(x)= le_4’xEQ} XIKI—4IIEQ

x| x|-/3xe Q@ .'

X|x|-/3x¢ Q"

then f(x) is

¥
A) one to one and onto .

A) TRE IR arewres
B) W®US IR aremies
C) WBH 3k wiPaRe sTwEE
D) Waﬂ?ﬂﬁﬂam

B) many to one and onto
C) oneto one and into

D) many to oﬂiﬁ‘um

(3 :“‘!'.:

~ﬁ€ﬁ% = i
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gy , ﬂ'ﬂ"ﬂﬂ-ﬂi (x-3) Is
~A) one-one but not onto

31.

mm'nuadeﬂmdhy

B) onto but not one-one
C) both one-one and onto

D) neither one—one and onto

Limy-{(x + 6) / (x + 1)}**Y equals
A) e
B) e’
C) €° \
)|
D) e° o N,
B s 22+ 3%+ +n?/n’

Differentiation of cosv/x with respect
toxis

A) sinx/2vx
B) —sinx/2vVx
C) sinVx/ 2V/x
D) -sinvVx/2Vx

The expansion of log(1 - x) is
A x=x124%3~..........
) 2 ex’3e .. )

29,

30.

31.

32.

f(x) = (x=1) (x~2) (x-3) } w' g
TRwfa va-1f:R->RE

A) wmmﬁmw
B) 3rewied Afesr vda wd)
C) Uaad) ¥ arewred ey
D) « a vda) 3ty 7 &

ATBTTDH

Limy_o{(x + 6) / (x + 1)}*** qrrax 2
A) e
B) e°

X & WY& cosvx BT TP 2

A) sinx/ 2Vx
B) -sinx/2Vx
C) sinvx/2Vx
D) -sinvx/2Vx

log(1-x) &1 ywr @

B) x+x*2+x%3+

llllllllll

C) x+x¥2-x%3+.

D) -x-x‘lz-x"

2022.10.22 17:32




34,
R
N
35.
36.
37.

If xsin(a+y) = siny, then dy/dx is equal
to

A) [sin’(a+y)]/sin a
B) sin a/[sin’(a+y)]

C) [sin(a+y)]/sina
D) sina /[sin(a+y)]

If x’.y* = 16 then dy/dx at (2, 2) is
A) 0

By (1

CcC) -1

D) None of these

Forx € R, f(x) = | log 2 - sinx | and
g(x) = f(f(x)) then

A) g is not differentiable at x =0

B) g’ (0)=cos(log 2)

C) g’ (0)=-cos(log 2)

D) g is differentiable at x = 0 and
g’ (0) =-sin(log 2)

f(x,y) = sin(xy) + x’In(y) Find f,, at (0,

A) 33
B) 0
g} 3
D) 1

34.

35,

36.

37.

dfea @ g ¥ ¢ @1 WM, o,
g f(x) = sin2x 2 ;
A) ml/4
B) m/6 .
c) ml/2 i
D) n/3

arR xsin(a+y) = siny dl d?lfdl".
2

A) [sini{a+y)] /| sin a
B) sinal [sin®(a+y)]
C) [sin(a+y)]/sina
D) sina /[sin(aty)]

>
'.'-

afe x’.y* =162 a dyldx (2, 2) W &

A .0
B) 9
C) -1

D) 399 @ &I a8

XER & Ay, f(x)=]log 2 -sime.‘f
MR g(x) = f(f(x)) a4 |

A) x=09X g Jasa-a T8l &
B) g’ (0)=cos(log 2)
C) g’ (0) =-cos(log 2)

D) x=0 3% g’ (0)=-sin(log 2
R g JqbAIT 2

,j'

f(x,y) = si !
g ;m n(xy) + x’In(y) @t (o

A) 33

B)

2022.10.22 17:33 {
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B fxy)=x ey X=tetiy=eafal e
=1 9x df/idt siTa HIfY

A) | o
B) 1 ')Q
C) -1
D) 164
39, ﬁ: The domain of the function 39. o f(x) =x/ (x> + 3x + 2) BT S
: " ﬂx)ﬂxf(xz+3x+2) is e
B T2, 1) A) [-2,-1]-
B) R-{1,2) i g
A ~C) R-{-1,-2} C) R-{-1,-2}
D) R-{2) a) o=
~ 40.  20th term from the last term of the 40. A.P.3,8,13,...,253 & 3ifaw uq 4
AP.3,8,13, ..., 253 is: 2041 Ug @
B ouh). 147 B) 151 A) 147 B) 151
- ©) 154 D) 158 C) 154 D) 158
’ {%@‘L The famous mathematician 41.  "&H 100 ATHd AR &1 QT 5i1d
N associated with finding the sum of &1 dral ufig Thras &
’Q the first 100 natural numbers is A) urseriRE
3 | A) Pythagoras B) =yed
d B) Newton C) it
I (&) Oauss D) afrere
. v& D) Euclid
1,:. N .h‘g-'--bl B—'-It::g(a+h) then 42. 3fy = b
e ﬁga- : : |GQE+|09;=Iog(a+b) @
A] H+b=1 pRs Ty
; 1 B) a-b=1 ey <A O

amb. 4
ﬁ) ;:pﬂh;r

e e 1O 2 2 S S



¥ log,2=0.3010 ,the value of
log,, 80 is:

A) 1.6020

B) 1.9030

C) 3.9030

D) None of these

The value of

1 1 1),
IS
[I09360+Iog‘60+109560]
A 0
B) 1
B 5
D) 60

If for some number a and d, if first
term is 1/a, second term is 1/(a + d),
third term is 1/(a + 2d) and so on,
then 5th term of the sequence is?

A) a+4d

B) a-4d

C) 1/(a+4d)

D) None of these

Which of the following gives the right
inequality for AM, GM, HM?

A) AM>=HM>=GM
B) GM>=AM>=HM
C) AM>=GM>=HM

D) GM>=HM>=AM

L]
N e

A _Q‘;a
N _-_'61 )
t,:. ) .,E.-u- oﬂ L..;.n.r__ '-'._' .

4. afx 10g,2=0.3010

44.

45.

46

| &
= K
5 L_r. ’
:'Ij'. i

log,, 80 @1 5T @

A) 1.6020
B) 1.9030
C) 3.9030
D) T & &g e

-
sl

&

] f
"

1 1 1
+ +
[It:tg3 60 log,60 log.60

&l 7T ©
A) 0

B) 1

C) 5

D) 60

i
L

afe o 91 a il d & fog, ¥
ggl U< 1/a é.{ﬂwq'c:u(ud)
3 ?ﬁ‘ﬂﬂﬂ‘aﬂ(a+2d)3mm

g‘g‘s—mm dl 39 &1 5d1 U8

A) a+4d

B) a-4d

C) 1/( a + 44d)

D) 39 I &1 T

ﬁwﬁr@aﬁﬁmm,eu.
& oy 9@ argwar 2ar 22

A) | AM>=HM>=GM
B) GM>=AM>=HM
C) AM>=GM>=HM
D) GM>=HM>=AM

N |
@1@@ 10.22 17:33 {



he same order then, (AB’ - BA') is a

"W !vmm&trh: matrix
- D) None of these

N

For any of two matrices A and B, we
have

A) AB=BA

B) AB <> BA

C) AB=0

D) None of the above

[T o :'

49. If A is a square matrix of order 3 and
|A|] = 5, then the value of |2A'] is

A) -10
B) 10
C) —40

PR ST T R v v | TR T

D) 40

R "":-‘5_0. The area of a triangle with vertices
| (-3, 0), (3, 0) and (0, k) is 9 sq. units.
The value of k will be

A) 9 CI
r_ B) 3
R 8 - f_.ra)rs
'.._ | v D) @__\é) J{:}L
2 "’L \¥

A3

48.

49.

50.

rTemans
afs AR nm%ﬂ

g &, dl (AB’' - BA') (& t

A) fower gufia AMfgaw
B) ¥ Afgaw

c) wnafia Afgaw e
D) 3 @ B AL

fr-d 1 ameyE A 3k B & fag,
AR 9T ©

A) AB =BA
B) AB <> BA

C) AB=0

D) 9 @ HIg AL

ufe A %9 3 &1 U 99 ATYE 2
IR JA|=5 2 d |2A°| &T 719 @

A) -10
B) 10
C) -40

D) 40

Ml (-3, 0). (3. 0) 3&¥ (0, k) ara
BPre{s &1 &awd 9 aif g 2 k

BT {9 1T
A) 9
BY .3
C) -9
D) 6

202201022 17855



'A) Painting the surface with

aqueous solution of NaCl

B) Electroplating of metal with zinc

C) Applying a thin film of oil or
grease on iron surface

D) Covering the metallic su rface by
any metal

The PH of a 10"° (M) NaOH Solution is
nearest to

A) 10
B-\7
g 4
D) -10

The unit of specific conductivity is

A) ohmc.m.

B) ohm’c.m.”
C) ohmec.m.”

D) None of these

White lung cancer is caused by

A) asbestos
B) silica

C) textiles
D) paper

Depletion of ozone layer causes

A) Blood Canser
B) Lung Cancer

L) Skin Cancer

D) Breast Cancer

Which of the following is present in
maximum amount in acid rain?

A) HNO,
B) H,SO, P
C) HCI Q
D) H,CO,

51.

- &

53.

54.

95.

56.

C) w@HEr vy
D) wH dEx

B) e @ sAdgIieT gr

C) S @ A BT YA HAE AWM

G iR
D) fpel TER =g ¥ € IR

10"° (M) NaOH faea @1 PH

freedd Bidl
A) 10
By = 7
C) 4
D) -10

ffdrse dTedhdl &I AT9® @ |

A) 3H AL

B) 3w’ |
c) sy af’

D) 39H | &I el

@SS T DY BT HINYT &idl € |

A) THE¥EH
B) fuferer

C) <dauersd
D) duwx

AT AR § fog @ BT T 2

B) w3 &1 dux £

e anf ¥ sy -
m‘s\ﬁg?ﬁﬁm

i
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X 59,
60.
61.
62.

London smog is found in

A) Summer during day time

B) Summer during morning time
C) Winter during morning time
D) Winter during day time

Which of the following is a secondary
pollutant?

A) CO,
C) SO,

B) N.O
D) PAN

The atmospheric gas which cannot
produce green house effect is

A) N! B) HQO
C) CO D) O;
BOD;IE

A) Waste decomposed in 5 days

B) Oxygen used in 5 days

C) Micro organism killed in 5 days

D) Dissolved oxygen left after 5
days

Which of the following is coldest
region

A) Troposphere
B) Mesosphere
C) Stratosphere
D) Thermosphere

Natural rubber is the polymer of

A) Ethylene
B) Benzene
C) Isoprene
D) None of these

63.  Which of the following polymer

contains amide bond?
A) Nylon 6,6 B) Terylene
C) Teflon D) Bakelite

57.

58.

99,

60.

61.

62.

e W grgr e @ |

A) it ¥ fas @& waa
B) widf ¥ gag & w4
C) d¢ ¥ gas & 94
D) de # fg1 & w94

g ¥ @t fgdas ggus 27

B) N,O
D) PAN

A) CO,
C) SO,

garavefra 49 o =9 &89 9919
a8 S Hdl @ |

A) N B) H,0
c) €ty D) O,
BODsZ |

A) awe uaref @1 5 s faaes

B) 5 fas1 & Suar far A
o=

C) 5 fas1 % wRT T Y& S|

D) 5 fa=1 & e <=1 a1 g3
I3 e

g9 9 @I 9 Hesd Had 3T 2 |

A) & Hsd
B) #Weq HSd
C) ¥HUHA™ #HSH
D) 4ral argHasd

P ICAGC R S O

A) sfEeh=

B) a=f+

C) 3mgHEif=

D) = A &g

1 A &9 qged N wIgs 99
gler &) 8

I

A) el 66 B) 2R

c) R
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70.

C) Terylene
0; None of these

Which of following is condensation

polymer

A) Polythene
B) PVC

C) Teflon

D) Nylon 6,6

What is heavy water?

A) H;0

B) H:0;

C) D,O

D) None of these

The salt responsible for permanent
hardness of H,O is

A) Na;SO,

B) Mg(HCO;);
C) NaCl

D) MgCl,

The bond angle and dipole moment of
water respectively are

A) 109.5° and 1.84D
B) 107.5° and 1.56D
C) 104.5° and 1.84D
D) 102.5° and 1.56D

The reagent commonly used to
determine hardness of water is
A) Oxalic acid

B) Sodium citrate
C) Disodium salt of EDTA
D) Sodium thiosulphate

Which of the follwhg is
diamagnetic?

A) CrCl;
C, ZHCI2

68.

69.

70.

A) Na, SO,

B) Mg(HCO;);
C) NacCl

D) MgCl,

Siel &1 494 HI0T a1 aregof
HHI: BIdl 282 o

A) 109.5° 3l 1.84D
B) 107.5° 3il¥ 1.56D
C) 104.5° 31¥ 1.84D
D) 102.5° 3ilX 1.56D

S @ ol fufver @ fav
ST A Ad Bl

A) Jiauifas vfas

B) dHifsaw wHisge

C) EDTA &1 siguifean Hiee
D) wifeas uAaeawe

38 | 9 etfes 22

A) CrCl; B) CuCl,
C) m D) CuSO,
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| ich of the following does not
 belong to fist transition series?
| Silver B) Cobalt

Chromium D) Vanadium

g

Which of following is Bell metal.
A) Cu+Pb B) Cu+Sn
C) Cu+Zn D) Cu+Ni

Which of the following contains
minimum number of unpaired
electron?

A) zn"' j) FEE-I-
) N | D) cu*
Q,%
Gun metal is™ ¢
A) Cu+Sn B) Cu+Sb
C) Zn+Sn D) Cu+Sn+Zn

Which of the following is Lunar
caustic?

A) Ag,S B) Ag,SO,
C) AgNO; D) AgCI

Calamine the ores of

A) Zn B) Fe
C) Al D) Ni

General electronic configuration of
transition element is

A) (n-1)d""" ns’
B) {n_,”d'l-‘m l'ISLﬂJ
C) ns’nP®

D) None of these

Which metals are best catalyst?

A) Transition metal

B) Alkali metal

C) Alkaline earth metal
D) None of these

79. In the Profanation of Bakelite plastic
we use

Phenol and Formaldehyde

) Phenol and Acetaldehyde

_?m Ethylene X

D) None of these

-
"

e

=}
. E- d
_'.‘l-l S .
L o
¥ . 5

.

T

73.

74,

75.

76.

77.

78.

79.

:.t"_l- -. o F
. e "'*‘_.‘:l_"!. L
= L - -

TE 3mar 87 4
C) wifirm D) AAfsuw

g9 O B9 A qed B |
A) Cu+Pb B) Cu+Sn
C) Cu+Zn D) Cu+Ni

g1 9 fpad gfa saagr @)

T S1ET 27

A) Zn' B) Fe*

C) NT D) cu’

T Hed @ |

A) Cu+Sn B) Cu+Sb
C) Zn+Sn D) Cu+Sn+Zn
g9 9 B IR drfesd 27

A) AQIS B) AggSO..
C) AgNO; D) AgCI

1B AgE WRes a9 A gaahr
mwﬁfmﬂg.

A) ﬁn’mmwﬁm«
B) f=itar aitx
- tRrecdierse
D) lﬂ"}ﬁ

i
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81.

82.

The following reaction occurs in a
cell. Zn(S)+CO™ (ar) >Zn* (ar) + CO(s) if
E°CO/CO*= +0.28 and E°Zn/Zn® =

+0.76V then the standard emb of the
cell would be

A) 028v
C) +1.04v

B) +0.48 v
D) -1.04v

The IUPAC name of neopentane is:

A) 2-methylpropane

B) 2, 2—dimethylbutane
C) 2-methyl butane

D) 2, 2-dimethylpropane

The systematic name of CH;-CHBr-
CH,OH is

A) 3-hydroxy-2-bromopropane
B) 2-bromopropanol-1

C) 2-bromo-3-propanol

D) 3-hydroxy isopropyl bromide

Which of the following statements
about coordination compounds’
bonding is incorrect?

A) Crystal Field Theory

B) VSEPR Theory

C) Valence Bond Theory

D) Molecular Orbital Theory

Which of the following is borax?

A) Na,B,0,10H,0
B) Na,CO,10H,0
C) Cuso,5H,0
D) ZnSO,7H,0

A) De-Broglie
B) Sommerfeld
C) Heisenberg
D) Bohr

81.

82.

83.

84.

85.

v Oa A Freeifea siffear e @
Zn(S) + CO™ (ar) - Zn™* (ar) + CO(s)

afs E°CO/CO*'= +0.28 a\¥ E°Zn/Zn?'
= +0.76V & a1 ¥ BT 5 fagq
qre® 4 s8I

B) +0.48 v

A) -0.28v
D) -1.04v

C) +1.04v

g 2= &1 IUPAC 919 &

A) 2—fergaurd

B) 2, 2—sTsfAuTgaeeH
C) 2—ferger <2+

D) 2, 2—srsfAuTgavId+

CH;-CHBr-CH,0H &1 =yaftera 1
2

A) 3—ETIsgIRI—2—a 9

B) 2—aHIWIgAT —1

C) 2—dI M —3—ui=a

D) 3—gTggiavl ansavifue atrss

A) fh¥ca Pies fiera

B) divugdiame et
C) dd¥ di~s fuzrg
D) snfdas #eflg Rierg

g | B9 dReg 27

A) Na;B,0;10H,0
B) Na,CO;10H,0
C) CuS0,5H,0

D) ZnSO47H,0

AT B A9 Al @ qn 3
qraran

A) S-arveh

B) WK Wes

C) EIgo+aqf
D) @A

EE(LE)2022
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E o L8
__ * hich of the following statements 86. werd @ 4 W Prefafaa ¥ 4 *;_. ky
:__ about starch is incorrect? A1 BT Toa 872 —de -
~A) Iltgives blue colour with iodine A) ug saVdyr @ e Aren ¢ 2ar @
B) Itis a polymer of a-D-glucose B) 48 a-D-re@Yu @1 dges &
C) Itis areducing carbohydrate C) U8 U® @¥ LA ATAl wrafegge
D) It consists of branched chains D) gui wmfaa s erd x
The half life period of a radioactive 87. u® Isu) ufpy aca &1 A4 AY
element is 140 days. After 560 days 140 =1 21 s60 fa=1f & «18 T &7
1g of the element will reduce to 1g gEHY B SITATT |
A 129 A) 12g
D) 116g D) 1/16g
When an electric current is passes 88. U9 U& ﬁqa |IRT A+l & Sl i
through acidulated water 112 ml of garfed ?ﬁf ol € @ dUls U 965
hydrogen at NTP collects at the davs ¥ 112 ml EgISH w10 o
cathode in 965 seconds. The current 210 Y% UHA Brdr & | ¢fgur A
passed in ampere is yarfed 0 &
A) 1 A 5
B) 0.5 B) 0.5
g 0.1 ' c) 0.1
D) 2 _ D) 2

what 89. G4 aTyHrd dgdr &, dl

. Aarda—aleeuds faaver 1% ¥ %
. & RrEx &1 @1 gdar 87

When the temperature rises,
happens to the peak of the curve
the Maxwell-Boltzmann distribution

graph?
A) ) 3k wuv @ AN Rawwar @

A) Shifts forward and upward B) & sty A @ v Rawwar @
~B) Shifts forward and downward c) N9 @ aiY 3R FU B
©) Shifts backward and upward R+ s

i 8
-
.
v

D) Shifts backward and downward D) M3 @ Sl e # 3

i e 8 & F

K <

022,108V 55



91.

\ &

" The absolute mass of an electron is

A) 1.66X10™g

B) 9.108x10™g
C) 1.66X10%'Kg
D) 9.108X10**Kg

Which one of the following electronic 91.

structures will be of the atom of noble
gas?

A) 1s’2s’2p°®3s?3p’
B) 1s’2s?2p® 3s?

C) 1s’2s’2p®3s?3p*
D) 1s®2s?2p®3s?3p°®

The number of electrons in a 92.

molecule of H,S0, is

B. {)L Br*: _.‘“ﬂ,

A) 2 B 7
C) 49 D) 50 9

X
\ 2

An anion X* has 36 electrons and 45 (5
neutrons. what is the atomic number

of X?
Y

&y

A) 36 B) 72
C) 33 D) 66

Electromagnetic radiation with
highest wave length is

A) IR
B) Radiowave

C) X-rays .
D) u.v.

M’I'llod.l postulate is

B) mvr=hmy
C) mvr=nhi2
D) None of the

90.

93.

@ 94,

95.

D) W A &IF T

Ua gadaglq &1 FRUE geme e
2l .
A) 1.66X10%'g

B) 9.108X10*°g
C) 1.66X10*'Kg
D) 9.108X10*Kg

fer=rifea A @19 W gdagie
|Yaar Aee 1 @ 9ATY] P g
A) 1s’2s’2p°®3s®3p’
B)., 1s*2s*2p® 3s*

€)™ 1825 2p° 3s* 3p*
D) 1s?2s?2p®3s?3p®

gzsodrﬁ ] ¥ soaeTEY @ wen
|

Ay 2 B) 7

C) 49 D) 50

W?'f""ﬁ?%xa'ﬁ 36 FATTIT ANX 45
i S | X BT 9] mare

T 8?
A) 36
C) 33

B) 72
D) 66

S=dH d’TT ¥ qra)
il fga geer

A) I3
B) fearaw
C) vUau—
D) ..

AN Hised @) HdHeUAr 872

A) mvr=mn/2n

B) mvr= hm/2n
C) mvr=nh/2n




"~ The mass number of thorium is 232
~ and its atomic number is 90. The last

. of disintegration series is
Jead whose mass number is 208 and
atomic number is 82, The total
number of particles emitted is

A) 2aand 58
B) 6aand 4R
C) 4aand 3R
D) 3aand 4B

A radio active element has a life
period of 1500 years. 1g of the
element is kept in a sealed tube. After
, 3000 years the amount of element left
B will be

A) 19 B) 0.5¢g
C) 025g D) 0.05g

Which one is the correct equation
that represents the first law of

electrolysis?
A) w=ct/z B) w=zct
C) w=zt/c D) w=c/zt

The amount of electricity should be
passed through CuSO, solution with
copper electrons to deposit 0.1 gram
atom of Cu is

~ A) 96,500C B) 9,650 C
- C) 19,300C D) 1,93,300C

Degree of ionization does not depend
on:

Nature of solvent
Hllun of electrolyte

Mullr mass of electrolyte

_u

97.

98.

99.

100.

D) 3a3ilX4B

e et wfbg  a@ @l

I —argdrel 1500 a4 21 1g dd
Us dg dol ¥ @ feur wmar 21
3000 9§ @ qI¢ dd DI AT HAEAT

aift |

A) 1g B) 05¢
C) 025¢g D) 0.05g

faga sgaeq @ wuw &)
fFrefia & arer s |98l wiiavr
27

A) w=ct/z B) w=zct
C) w=zt/c D) w=c/zt

fagd @) a8 WA W) 0.1 WTH U]
Cu oWl &%+ 3 fau @R
sadersl @ W CuSO, @ faww+

N yarfed @) - 49f?e 2|

A) 96,500 C B) 9,650 C
C) 19,300C D) 1,93,300 C

mmmmm
Far 2|

A) Aeaes @
8 I Svsd

Flen ) . - ‘ ﬁ #:dlj'_ll.;{-.i:h_‘-r _-. o '

el O

ﬁv
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PHYSICS

101. The potential energy of a long spring
when stretched by 2cm is U. If the
spring is stretched by 8 c.m the
potential energy stored in it is.

A) 16U B) 8U
C) 4u D) U/4

102.  In uniform circular motion, the work
done by the centripetal force is
A) Greater than zero but smaller
than infinite
B) Infinite
C) Zero
D) None of these

103. A bomb of mass 30 kg at rest
explodes into two pieces of masses
18 kg and 12 kg. The velocity of 18 kg
mass is 6ms™. The kinetic energy of
other mass is

A) 324 B) 486 J
C) 256J D) 524

104. The Kkinetic energy of a body
increases by 300%. The linear
momentum of the body increases by
A) 300% B) 150%

C) 100% D) 50%

105.  Which of the following possesses two
types of bulk moduli
A) Solid B) Liquid
C) Gas D) Al of the above

106. A sphere contracts in volume by
0.01% when taken to the bottom of

sea 1 km deep. The bulk modules of
the materia| of the sphere is

A) 6.8x10" Nm™
B) 5.2x10" N2
C) 9.8x10" Nm2
D) 4.8x10" Nm?

101.

102.

103.

104.

105.

106.

Aifas fasm=

v ol Ry & 2 9.9, ae Efar
orar 21 guar Refaw saf U 2
ufe fair &1 8 A.M. a& @ar sran
g a, ¥faa Refogw swaf &1 #=

fpa=m & |
A) 16U B) 8U
C) 4u D) u/a

U A gareik T 7 i<y
ac g1 frasm a1t grar 2

A) I A IAfEd W IFa q »H
B) 3r<d

C) I3

D) 79 A &g ) |

Us 99 forasT gamme favmraver 3
30 f.ur. 2, 3 A & fawfea =)
ol 2|1 et g 18 fuu,
U9 12 fd.ur. 81 18 4T, &1 A

6 Hl./W. 2| TR TN BT TS

Sl fa=r 2
A) 324 G4 B) 486 Sa
C) 256 S« D) 524 Ga

(% a9 &1 7fasr gof 300% W<
tﬂrm%,ﬂ‘ri}ﬁ’mﬂﬂ’nﬁﬁmmq&?

&I |
A) 300% B) 150%
C) 100% D) 50%

ﬁmﬁf@aﬁﬁﬁqﬂuwm
ST YeTReraT T[onias ey 2 |

A) Iy B) &4
C) iy D) Sulad w+)

e B MA B T B waE Q4
fe. M. T=ad v Q@ ST ST )
AT 0.01% @ &4 ' wirehy 2
Mo & garef DT ATAAT  UeqTeerdr

TN & |

A) 6.8x10° e /.2
B) 5.2x10" =qe+ /)2
C) 9.8x10"° =yes /)2
D) 4.8x10" ges /),
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110.

11,

~ With increase In temperature, the

surface tension of liquid
A) Increases

B) Decreases

C) Remain unchanged
D) None of these

The height to which kerosene will rise
in a glass capillary tube of 0.2mm
diameter when dipped in kerosene
given surface tension of kerosene
=0.026 Nm"" angle of contact =26° and
density of kerosene =0.82x10> kg/m’

A) 34cm

B) 58cm O_ ‘3 (> (}
C) 42cm

D) 6.2cm e_%

The surface tension of a
depends on

A) Temperature

B) Impurities

C) Concentration

D) All of above

liquid

What should be the maximum
average velocity of water in a tube of
dimeter 2 c.m., so that flows is
laminar. The viscosity of water is 10~

Nm?s™

ood
A) 0.02ms” V
B) 0.3ms”
C) 0.05ms” g%
D) 0.03ms”

Water comes out of a hole at the
The

bottom of a tank at 9. 8ms”.
height of water in the tank about.
A) 0.5m

B) 50m

C) 25m

D) 1m

108.

109.

amgaE A gfe @ wrer g9 &1 Yo
GRIC]

A) wadr 2|

B) wedar ®|

Cc) aqRaftfa wear 2

D) Sudaa ¥ A &g TE) |

ufy 0.2 A, @ma arel Sy B
e da A wgarar Wy @l
s Dt d o Jaig o
ge | faar war 2, SN &1 Yo
d9ra =0.026 e #.', wf@or
=26° Tt U &1 UG«
=0.82x10° fa.ur. #.7°
A) 3.4 |.4.
B) 5.8 ..
C) 4.2 9.1.
D) 6.2 V.71

o@z;r)évﬁ

“d &1 Y= a9 Feik axar 21 " T_——
A) Y ?’/?Sr
B) aryfeat
C) wr=dr

D) Sudad uH

U Al &1 w2 Q.. 2| 39
el ? Ul &1 ftrean sitwa o
foa-m &1 aifd sueT ware g
¥ T @ | 9l &1 A one
10° =qea M./ 2

A) o0.02 #f.A."

B) 0.3 #L.{."

C) 0.05 #.9."

D) 0.03 #H.A.

Uh ¢ & ddl ¥ 41 g | gr=h 9.
8 MA. ' | aex an @1 2, @ @

q Ul @) Sard o 2
A) os #.

B) 5.0 #. (N
C) 25 4. 19
D) 1 #. |



112.

113.

114.

1185.

116.

The dimensional formula for co- 112.
efficient of viscosity
A) MLT
B) MLT
£ ML’
D) MLT™
A metal bar measures 50cm of 0°C 113.
and 50.048 cm at 80°C. The co-
efficient of linear expansion of metal
is
A) 2.8x10°°C” 207 N
B) 4.2x10°°C" © Ry
C) 32x107°C’' 0/0 :
D) 1.2x10% °C" }%ﬁ S
_ O{
A body cools in 7 minutes from 60°C 114,
to 40°C. What time does it take to
cool from 40°C to 28°C, if the
surrounding temperature is 10°C.
A) 10 Minutes
B) 8 Minutes
C) 7 Minutes
D) 5 Minutes
What is the velocity of a transverse 115,
wave along a wire of length 1000m
and weight 2.5 kg of the wire is pulled 4
taut by a force of 196N.
A) 180 ms™
B) 380 ms™
C) 420 ms™
D) 280 ms™
The phenomenon of sound 116.

propagation in air is
A) Isothermal process
B) Adiabatic process

C) Isobaric process
D) Isochoric process

varran fonie &1 ffra ga@ &

A) MLT™
B) MLT
e) ML
D) MLT™

a1, B U B8 B g 0°C R
50 W.M. duT 80°C UYX 50.048 AN,
arfl el 21 arg &1 WY guR
AUTE |

A) 2.8x10° °C"

B) 4.2x10° °C”

C) 32%x107°C"

D) 1.2%x107° °c

U% d% &l 60°C W 40°C a& el
g W 7 BFe @war @) 40°C @

28°C d® 91 &9 A fdasr wny
M, AfE araravor ST argurT 10°C
2 |

A) 10 f3.

B) 8 fy.

C) 71

D) 5 f3.

1000 . &+l v& ar @1 2.5 f.aT.
R B | 4 R &) aigsw 196 e
W A o @Y ar A geu
SR TR BT A7 gy @

A) 180 .9,
B) 380 #.9,"'
C) 420 #.9, "
D) 280 .9,

@A B gar ¥ wavwor @19 aref
afsvar gyar &

A) HHa
B) g
C) wwgg
D) ww3myas
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At resonance the amplitude of
;‘l' ting body placed in vacuum is
- A) Infinite
- B) Maximum
- €) Minimum

p) Zero

The distance between a node and the
succeeding antinode in a stationary
wave of wavelength A is

A) A/4 B) A/2
B) A D) 2A

A hall of dimension 15mx10mx5m is
found to have a reverberation time of
1.15 if the walls and floor have an
absorption co-efficient of 0.03, then
the absorption co-efficient of the
ceiling is

A) 0.85 B)
C) 0.75 D)

0.65
0.80

The radii of curvature of surfaces of a
double convex lens are 20 cm and 40
ecm and its focal length is 20cm. The
refractive index of material of lens is

B) 1.75
1.85

A) 155
C) 1.67 D)

The refractive indices of water and
glass respectively 4/3 and 3/2. The
refractive index of water with respect

to glass is
A) 2 B) 1/2
C) 9/8 ,D) 8P

With increase in wavelength,

B)
C)
D)

118.

119.

120.

121.

122.

A) FFa
B) aftreem
C) =g=aH
D) I

aar g R s @ drg @)
e e avnt A st avd
def A 2, ®lar 2

A) A/4 B)
c) A D)

AJ2
2A

Ud Bfd &1 Araad 1581.x 109 x541.
2| e IRvHE BId 1.1 Q. 21
afy fEarat 3R wasl &1 el
quiice 003 & T VA B WU
NS 2 |

A) 0.85 B) 0.65

C) 0.75 D) 0.80

Udh fgadd 91 &1 Hdasl &1 dsdl
Foad 20 AM. 3y 40 /A 2
auT S9d Bied g8 20 €. 2
do @ ygrd &1 Iuadis 2 |

A) 158
C) 1.67

B) 1.75
D) 185

oldl U4 ®id @ Juad-i® Hae: 43
aaT 3/2 2| Oid &I Hid &) JUE
Aqqd-1i® I |

A) 2
C) 9/8

B) 1/2
D) 8/9

el @ 4 @ Ui JYAdAS
&1 A

A) @gar i
B) wew g (oL
C) JuRafdfa e &
D) s & ®d 7

(P



124.

125.

126.

127.

Equipotential surfaces and electric
line of forces

A) Cut each other at 0° ;

B) Cut each other at 90

C) Cut each other at 45°

D) Do not cut each other

Two fixed point charges 4Q and 2Q
are separated by a distance ‘X’. When
should the third point charge ‘Q’ be
placed for it to be equilibrium

A) 0.45X
B) 0.90X
C) 0.70X
D) 0.59X

The potential difference between two
parallel plates is 10° volt. If plates are
separated by 5cm. The force on
electron between the plates is

A) 1.6x10° N
B) 3.2x10"'°N
C) 2.8x10"°N
D) 4.8x10"°N

The potential of the earth is taken as

A) Positive
B) Negative
C) Zero

D) All above

The point charge +4C:- and +9C repel
each other with a force of 36N of a
charge of -5C is added to each of
them, the force between them is

A) 4N (Repulsive)
B) 4 N (Attractive)
C) 8 N (Repulsive) -~
D) 8 N (Attractive)

4
'\C/’_ -l

123.

124.

125.

126.

127.

A) 1.6x10° N
B) 3.2x107'°N
C) 2.8x10"°N
D) 4.8x10"°N

gefl &1 fawg Brar @

A) YATHS®
B) Z9ITH®

C) ¥
D)

4l fa=g smdwr +4cC

Ud +9C &
TR B 36N a9 O whasiag s

g1 R .5C AW AN A e
fear s, oY <Y @ g g9 @

A) 4N (wfosfia)
B) 4N (ansf¥a)
C) 8N (ufasfiq)
D) 8N (sn&f¥a)
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130.

131,

\‘-

~ Around a point charge on a plane the
~equipotential lines are

A) Straight
B) Circular
C) Parabola
D) None

Two tiny identical metal ball of 10gm
each carrying equal positive charge
are suspended form ‘1’'m long string.
These balls repel each other and
them come to equilibrium making an

angle of 37° with the vertical. The
charge on each ball is

A) 3.44NC
B) 5.42 NC
C) 2.43NC
D) 2.73NC

A charge of gq; = +5 NC is placed at
the origin while a charge q; = +10 NC
is placed at a distance 50 cm from the
origin along X-axis. The point where
the electric intensity due to these two
charges will be zero.

Qgc_

A) 0.52cm
B) 0.21cm
C) 0.34cm
D) 0.64cm

The cause of electric conductivity in
semiconductor is
A) Electrons only

B) Holes only
C) Both electrons and holes

D) None of them

128.

129,

130.

131.

A A e B w
wafandy Iard wrh |

A) R
B) gdarer

C) agga
D) &g &

vd Mex o) Wwar | 1 wHrE
I 91 & M YD B 10
M gHA dedIie M g &Il
ma afasdor & qrg ag d ATHY
Swafar @ 37° &1 BT F9d 2 |
gAS M U AR BT 4149 2 |

A) 3.44 NC
B) 5.42 NC
C) 2.43NC
D) 2.73NC

TP AR qq=+5NC o fag w®
@1 AT 2, SEfd gE ™A qp =
+10 NC #& fa=g 4 50 9.1, %
X- 38 U 2 | 98 I W@l WX ¥
I A & HRvr dga daar
T B

A) 0.52 9.4,
B) 0.21 |H.4%.
C) 0.34 9.4\
D) o0.64 9.

afarae A YT ardadar &1 SRV
gl
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133.

134.

135.

136.

137.

138.

The forbidden gap of germanium at
absolute zero is nearly

A) 0.01ev
B) 0.72ev
C) 1.02ev
D) 7.2ev

If the work function of metal be 2.8ev,
than the threshold wavelength will be

B) 3344 A
3000 A

A) 4433A
C) 4000 A D)

The sun releases the enormous
amount of energy by the known
process of

A) Nuclear fusion
B) Nuclear fission
C) Burning of gases
D) None of above

The dimension of plank constant is

A) ML*T? B) MLT"
T D) MLT?

Hard x-rays are obtained form
A) Cathode ray tube

B) Gas-filled tube

C) Coolidge tube

D) Radio-active materials

Laser beam is made of

A) Electrons

B) Highly coherent photons
C) Elastic particles

D) Excited atoms

The Non-renewable source of energy
is

A) Coal

B) Solar energy
C) Wind energy
D) Water energy

n.a' . 1 .'\‘-—-

132.

133.

134.

135.

136.

137.

138.

m:ﬁﬂﬂﬂ?ﬁlﬁﬁ'ﬂﬂﬁﬁﬁhﬂ
g3 sral e |

A) 0.01ev 3

B) 0.72 ev R
C) 1.02ev
D) 7.2ev Q

afe el arqg &1 &1 BT 2.8 ey
gl o agell a3 a=f B

A) 4433A B) 3344 A
C) 4000 A D) 3000 A

gd gr1 e 731 4 96f Iqa=
3 B ufspar 2

A) “IfH®IT a1

B) -nffara fawsq

C) 9l &1 ST

D) 94 A &Iy &)

oie Faare @) faaqr 2

A) ML*T?

: B) MLT™
C) Mo

D) MLT?

B TFa—THeoY wreg 31 ot 2
A) DAl fHvof T

B) 19 ¥ I

C) &feas saf




P 42.

143.

3 Red
- D) Variable

: s <) _ b
e colour of the nano gold particles

Orange

One parsec is equal to

A) 2.26 light years
B) 4.36 light years
C) 3.26 light years
D) 5.46 light years

The dimensions of . {I— is
M

A) LT?
B T
AT
D) M'T

The number of significant figures in
30.00 m are

o AN

2 2 -

C) 3

D) 4

A phy‘lcﬂl CIUHI'Iﬂty y = ﬂ4h2 / (cd"l)ﬂﬂ

has four observable a, b, c and d. The
percentage error in a, b, c and d are
2%, 3%, 4% and 5% respectively. The
error in y will be

A) 6%

B) 11%

C) 12%

D) 22%

Which of the following is »
dimensionless? N

A) Vvirg {9
B) Vigir A

C) wvgir

139,

140.

141,

142.

143.

144.

e i r.-_-.. b I
R ek -
E j."’-_J." b ‘rll"?.r "

..{QQ
A) m 7 "fﬂ‘. ___".:_
B) w¥M e
C) @ra H
D) uRafifa

e

Udh URAS ® qurae slar 2 |
A) 2.26 uaTy a4
B) 4.36 &y a9
C) 3.26 wW&rer a4
D) 5.46 udTY a4

T
J—;Wﬁﬁﬂ'\‘{igl

A) LT
By T
€)i LY
D) M'T

30.00 WMo W aref® s’ @ T=AT

A)
B)
C)
D)

W N =

e #ifas Ry = a'b’ [ (ed”)'®
@® R W94 a, b, ca d #d wfava
Afeat HaMm: 2%, 3%, 4% AR 5%
21 vl y A afvrera e &m

A) 6%

B) 11%
C) 12%
D) 22%

fr=ifaifRga A &9 Rwd= )

A) Viirg " .: i
B) v’g}f i A
c) vgr m g !

p— — i
I 14 - o

L

i N __# ¥
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145. The tension in the string in the pulley
. system shown in figure is

6 kg 10 kg
A) 57N B) 7N
C) 75N D) 74N

146. A 100g ball moving with speed of
20ms”’ returns in opposite direction
with speed of 30ms™’ after striking
with a bat the impulse
A) 15NS B) 10NS
C) 5NS D) 20 NS

147. The maximum velocity of a particle

/ executing S.H.M with an amplitude

imm is 44 m/s. The period of
oscillation is

A) 100s B) 10s

C) 01s Dl 0.01s
148. Acceleration of a body moving with
7 constant speed in a circle is

A) Zero B) wr

C) wWr D) rw?

149. A force of 5N acts on a body of
weight 9.8N. What is the acceleration

A) 49ms? -B) 5ms?
C) 146ms® D) 0.5ms?

150. If two protons brought near to each
other, the potential energy of the

system will
+« A) Increases
B) Decreases

C) Remaining the same
D) Be equal to kinetic energy

145.

146.

147.

148.

149.

150.

fag ¢ fam A Rff Fem 3 <
A g7 BT AT B |

6 kg 10 kg

A) 57N B) 7N
C) 7.5N D) 74N

U®H 100 UT. T g 20 HI /" A ST
Wl 2] dcoll § ThId @ dIs
301 /9. @ aga fauda fasm #
JATar 2, dl 3maA fbaAr 2 |

A) 15NS B) 10 NS
C) 5NS D) 20 NS

WA A1ad T HIXd TH HOT BT
AeTdaH 947 44 /AW, T dAT
I 7 .. 21 smadara feaar

e |
A) 100s B) 10s
C) 01s D) 0.01s

Faa aret @ qateR o uv iy v
R 9] &I XU Bar 2

A) I B) wr
C) w/r D) rw?

Uh a9 forg®r ¥R 9.8N @ 99 W

A9 fpa=r g8
A) 49 mS-l B) 5 ms™> 1
C) 1.46 ms™ D) 0.5ms>

afe @ wel &) U6 TR B
TN AT WTar ®, @ e @

C) 3mRafkfa waar 2
D) o swif & axraw &hm
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